UBERSICHTSZEICHNUNG VET S /7Y A

ASSEMBLY DRAWING

E-TERU UNIVERAL LOW EQ (MY22)
Datum: 18-03-2022

Version: 01

E-TERU UNIVERSAL LOW EQ (MY22)
date: 18-03-2022
version: 01

page 1/8



UBERSICHTSZEICHNUNG V8T 5 /7Y A

ASSEMBLY DRAWING main frame

Hinweis: Bei den Schrauben muss
mittelfeste Gewindesiche-
rung verwendet werden.
Rote Flachen missen ge-
fettet werden.

Note: use medium streng-
th screw lock for screw
threads.
red surfaces has to be
greased.

ﬁ » medium strength screwlock

E-TERU UNIVERSAL LOW EQ (MY22)
date: 18-03-2022
version: 01

page 2/8



UBERSICHTSZEICHNUNG

Lyifgs7

ASSEMBLY DRAWING main frame
BOM-ID | Description Specification Torque | Item no. QTyY
1 Charge port cover/rubber 02005212 1
2 Socket countersunk head screw (DIN 7991) TX10 - M3 x 6 mm 1 Nm FRSCO0114 4
3 Charge port cable 02005207 1
4 MRS rail sealing rubber 53100877 4
5 Plastic cover seat tube W0100002 1
6 Seat clamp ? 34,9 mm W4094103 1
7 Motor skidplate 53100630 1
8 Cylinderhead screw (DIN 912) IS3 - M4 x 10 mm 3Nm 09105030 4
9 Cylinderhead screw [S6 - M8 x 75 mm 28-30 Nm | 09105089 3
10 Caps for motor bolts [53';:?050531010 ] 3
11 Locknut for spider F0002027 1
12 Battery cover (Set) 53100863 1
12.1 Latch for battery cover (Set) 53100863 1

E-TERU UNIVERSAL LOW EQ (MY22)

date: 18-03-2022
version: 01

page3/8



UBERSICHTSZEICHNUNG V8T 7 /7Y A

ASSEMBLY DRAWING battery mount

Hinweis: Bei den Schrauben muss
mittelfeste Gewindesiche-
rung verwendet werden.
Rote Flachen miissen ge-
fettet werden.

Note: use medium streng-
th screw lock for screw
threads.
red surfaces has to be
greased.

ﬁ » medium strength screwlock

E-TERU UNIVERSAL LOW EQ (MY22)
date: 18-03-2022
version: 01

page 4 /8



UBERSICHTSZEICHNUNG i1 70% 7

ASSEMBLY DRAWING battery mount

BOM-ID | Description Specification Torque | Item no. QTyY
13 Special screw for battery cover T25 - M5 x 25 mm 3-4 Nm 53100585 2
14 Battery mounting plate 53100628 2
15 Cylinderhead screw flat head TX25 - M5 x 10 mm 3-4 Nm 09105095 2
16 Lower part battery adaptor (Set) 02005214 1

16.1 Socket button head screw (Set) TX20 - M4 x 10 mm 1-2 Nm 02005214 4
17 Lower part frame fixation 02005213 1
18 Main powercable (Set) 02005206 1

18.1 Socket countersunk head screw (Set) :[raxpjpoir;ng x 6 mm, self- 1T Nm 02005206 4
19 Lock module (Set) BLO-WIN- IT5 ?i%%%%?] 1
20 Batteryplate intube battery inkl. 3 Screws 94092045 1
21 Hanger right side W0017215 1
22 Hanger left side WO0017214 1
23 Cylinderhead screw (DIN 912) IS6 - M8 x 16 mm 26 Nm 09105022 4
24 Cylinderhead screw (DIN 912) IS5 - M6 x 16 mm 11 Nm 09105059 3

E-TERU UNIVERSAL LOW EQ (MY22)
date: 18-03-2022
version: 01

page5/8



UBERSICHTSZEICHNUNG V8T 7 /7Y A

ASSEMBLY DRAWING rear frame

Hinweis: Bei den Schrauben muss
mittelfeste Gewindesiche-
rung verwendet werden.
Rote Flachen missen ge-
fettet werden.

Note: use medium streng-
th screw lock for screw
threads.
red surfaces has to be
greased.

ﬁ » medium strength screwlock

E-TERU UNIVERSAL LOW EQ (MY22)
date: 18-03-2022
version: 01

page 6 /8



UBERSICHTSZEICHNUNG

L5 7

ASSEMBLY DRAWING rear frame
BOM-ID | Description Specification Torque | Item no. QTyY
25 Cylinderhead screw (DIN 912) IS3 - M4 x 40 mm 3 Nm 09105104 2
. W6906001
26 Cable guide for 1 cable (alternativ SM0002) 4
09103281
27 Lens head screw IS3 - M5 x 12 mm 6 Nm (alternativSM0919) 4
28 Fender (Set) W1000201 1
29 Cylinderhead screw (DIN 912) IS4 - M5 x 14 mm 4 Nm 09125014 2
30 Spacer P10x52x5mm 09102001 1
31 Carrier Racktime Eco 27,5 77001221 1
00125071
32 |Washer p 6,4 mm (alternativsM1243) | 2
33 Chainstay protector silicone 95114045 1

E-TERU UNIVERSAL LOW EQ (MY22)

date: 18-03-2022
version: 01

page 7/8



UBERSICHTSZEICHNUNG VET o /7Y A

ASSEMBLY DRAWING

FACT SHEET:

SHOCK LENGTH: e DROPPER SEATPOST VES
INSTALLATION POSSIBLE:

SHOCKHARDWARETOP: = WATTERBOTTLE MOUNT 1075 L

SHOCK HARDWARE BOTTOM: ~ —-——- INSTALLATION POSSIBLE: '

HEADSET TOP: 7S 4l MAXIMUM PERMISSIBLE TOTAL WEIGHT: 120 KG

HEADSET BOTTOM: 7S 56 MAXIMUM TIRE SIZE: 60 - 584

SEATPOST DIAMETER: 31,6 MM WHEEL SIZE: 27.5" x 2.4"

CLAMP INNER DIAMETER: 34,9 MM QUICK RELEASE LENGTH: 178 MM

BOTTOM BRACKET:  eeeee OVER-LOCKNUT DIMENSION (0.L.D.): 135 MM

KICKSTAND: direct mount FD CLAMPSIZE: -

ISCG STANDARD: - FOTYPE: -

CARRIER MOUNT: direct mount ENGINE: YAMAHA PW-ST

FENDER COMPATIBLE: YES BATTERY: SIMPLO 630 WH
DISPLAY: YAMAHA DISPLAY A

E-TERU UNIVERSAL LOW EQ (MY22)
date: 18-03-2022
version: 01

page 8/8




